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- First 15 minutes arc allotted for |
nete candidates to read the question
aper. _
U e Rl
Frifa ofw 30 o Rg el
i) TR we T & e W
it
iii) ual & SrifE S fatag
) e @, aratE  qEE
I
' tion : |
fstue i) Al questions are cumpulso_ry.
Marks allotted to ea_ch question
are given in the margin.
i) In numerical questions, give all
the steps of calculation.
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iiij Give relevant answers to the
_ uestions. ‘
iv) e chemical cquations
wherever necessary. : ‘
1. WA F yds §Ue ¥ AW feg mz #

w fawes grat @ ot IW-gRder o
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feifEw - § .
%) Y% fafoem v wmifag §
i) ii) '
iii) FSATF  iv) gﬁﬁﬁéﬂﬁl 1
@) fewie o1 FaA9 FErUE! B &
i) ToeEa &1 A9 o *
i) faegT =t oerar %
iii) foerae *it gieear &
iv) foemas i GiceEr & 1
m Fefafan a0 afufsn & R
Zn + Cu®*(ag)— 2n?*{ag)+ Cu
[E;n+2f2n =-0-76 V, |
;u+2mu=.-+o-34v1
ST WEMFE
i 1108= i) 0104k
iii) - 110 iv)] -0110awr 1
u) Y FIf w5 e & 9 Fawiw @
TS E -
i) min~!
ii) L. mole~!, min-!
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3 347(WC) 347(WC) q
%) pel, , u sfafwE s HAr d) The unit of rate constant of zerg
: : :1[,” ii) HSPO:} | order reaction is
) trfeafraa 04 Eﬁ’lﬂ'm AfafFa a=sd i) L. mole™! . min!
o g A AT g & ? iti) mole. L7, min ™’
R @ A AR _ iv)] dimensionless. "1
]i]i) T (fats) 71 7 A (fatty acid) e)] PCl, reacts with water to form -
i) o T TRIEA i) PH D H
111} GED a 'TFJ? . . 3 ll} 3P0
iv) viferdenizs @ AT j'nmjzn:ﬁctach pari - - u) POCI, iv) H, poj_ ]
' are give 5 = '
g’?“{hﬁg"?ﬁéﬁgn_ s%lle_ct the correct 2 d f) The enzyme pepsin hydrolyses
alternative and write it in your answer £ £ i)  proteins to amino acid
hook : N :\m are b 3 i) fats to fatty acid
a) Pure silicon and germani = = iii) glucose to ethyl
8 Conductors 5 5 m)  glucose to ethyl alcohoal
liq Insu]atorsd tors §” §” 1v) polysaccharides to
i) Semi-conduc 1 =3 3 monosaccharides. 1
: e. N :
b he Sopression of freczing point is £ S 2 ®) cop Ww A wgew g A W
1 to , = 3 ) o
I’mpﬁfgf«f}?acuon of the goluuon G 6 I cc.p SIS wt HheH  &HdT
i) Molarity off Ell:xe 50113333 2 s hep Sl dfFameR Rmg 2 o
- i € so :
111.: ' ﬂg%g{:g gf the solvent. 1 @) 256 7™ & & 1000 I Ag8ets 3
) Forthe e Cen;%tf'nu Cu el T 8, B mp. 80-1°C ¥, &k
Zn+Cu (ag)—>2n"1dq feni® § s@FH 0680°C Ww far
lF—rz“n,z,, =-0-76 V, TN WO FOAIMR H OOA AT
E ., =-+0:34V) A H kT 68 k/m ¥ 2
cut</Cu . :
The E.M.F. of the cell is M W i A ™ e s &)
i) 110volt ii). 010 volt Teraar | IR Hifag | 2
i) -1'10volt iv) -0-110 volt. 1 |
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e 7 A FE B AT P
gg-g%ﬁmﬁmﬂﬁmm.m
e @ o g A @ @ 10 T
g &1 2

culate the packing efficiency in
f::.?:l.p structureI.J How does it differ
from packing efliciency In h.c.p.
structure ? _ 2
A solution containing 256 gm of
sulphur dissolved in 1000 gm oof
naphthalene, whose m.p. 18 80-1°C
gave a freezing point lowering of
0-680°C. Calculate the molecular

weight of sulphur. kf for

naphthalene is 6-8 k/m. 2
Determine the equilibrium constant
with the help of Nernst equation. 2
Justify that the time required to
complete 99-9% of 1st order reaction
is 10 times of its half life ume. 2

L

%) T O & I (Hel S FHEH

Qo) —

i) T, ST @ ST i et
¥ siadiga & ¢ 2

i) WA 38 W T
TReRS AT F@R 2 1+ 1

-@}-0.1 mol L~} KC[W%‘&@@
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a8 & Sy 100 Q ¥ AR
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femq W W 520 Q ®, @
0-02 mol L' KCl foermm | I

@ TR aeed G wifeg)

0-1 mol L'KCl faoma =t s

I-EQSg’mﬁ'l_ 2
) 3EE KO TR bR # wife o
ST et Tt TET | 2

¥) FEa @%ﬁamm

Eﬁﬁt{ : http://'www.upboardonline.com

i)y SET T SRt

i) Hiee 0 Hie 39 1+1
3. a) What happens when (write chemical

equations only ) —

i)  Chlorine oxidises iodine in the
presence of water ?

i) Chlorine reacts with cold and
dilute solution of sodium
hydroxide ? 1+1

b) When a conductivity cell was filled
with 01 mol L~! KCl, it has a

~ resistance of 100 Q. If the same cell
was filled with an aqueous solution

of 002 mol L~ }of KCIl, resistance
became 520 Q. Hence find out the
conductivity and molar conductivity

of 002 mol L™ KCl [ The

conductivity of 0-1 mol L~! KCl

solutifan is 1129 s/m . 2
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7 347(WC) 34T(WC) 3
. _ . . Write down the GleCll'Dnic
¢) Explain molecularity and nt:r?:sr of 3 4. a) i) mrnﬁauraliuﬂ of the following
reaction with suitable exampies. o o ions °
: : i ween the
d) Write the relationship bet ) Cr* (y) Ce**
following : _ ) i) Write down the structura)
) Normality and Molanty formulae  of chromate apq
iij Molality and Mole fraction. 1 + 1 dichromate ions. 2+ 1
a. ®) i) fratefEs @ emE & gﬁagTﬁ?F b) i) How is decron obtained from
: ethylene glycol and terephthaljc
N Crt { o Ce® acid ? Explain. '
X r ¢ = = 1) Write chemical equations {
. : = = i or
i) WHC AGT Td I JEA & ad = reactuons involved in synthesis
o g3 fefan) 24+ 1 § § of Bakelite.
@) i) e wmem sk refes 2 = w) Write the chemical equation
I A WA fhw wR Tw w0 2 2 for -~ the  synthesis  of
2 2 polyacrylonitrile, 1+ 1+
A ? FEERT 2 2 Y _ 1
. - ' 3 o c) Cimetidine and ranitidine are better
i) YHeTE F WO W RS =. =. antacids than sodium hydrogen
et feifEn | ® % zjarbqn?“-ﬁ and magnesium or
ili) UfendfPeimreeRd Wedww @ = = uminium hydroxide. Give reason.

mmhﬁﬁﬂll+l+l

™ Aifsam SEIEE d) Write down th icats
FEME : e
o WA applications of

1 Helium, Neon and Argon. 1+1+1
T 2 Fnor ) 1+ +11 :

LU.P.A.C 7 fofg -
X) K3['3.1'{(.‘.204]31l

y) iCo[NHa]S[coan cl

1L 4+1
2 2

2 2
) ﬁﬁwm.ﬁaﬁqahmqqam
fafau

1+1+1
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i) [Fe(NH,),(CN);]" % S
F G TR 2+ 2
i FROT gR §¢ Frfatad i &RedT
1 gl g HH @D
NH,, (CH,);N,
CH,NH,, (CH,),NH.

i)  SRTATTEY Saur § eSS a9

TR } Al g wor e
HTT 2 Faer TarEfE T
Al 242
m ﬁmﬁafaaqtﬁfimﬁmﬁﬁwf@q;
i) R F e
i) fe=et g
i) A
Civ) wE f 141414
%) Frefofen wsd & e s @ o

5. a)

D65438

i) Al (ii) Fe (iii) Cu (iv) Zn

. ‘ 1+1+

1)  Write LU.P.A.C names of thf: "
following coordination |
Compounds :

X) K3[Cr[(:204 )a]
y) [CO{NHS]S{COGH CL‘
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i) Draw the struclures of
geometrical isomers of
| Fe(NH,),{CN) ]~ 2+2
b) i) Write giving reason, the
increasing order of basic
characteristics in the
following :
NH,, (CH,).N,
CH,NH,, (CH,),NH.

u) How would you prepare
chlorobenzene from diazonium
salt and aniline from
chlorobenzene ? Write chemical
equation only. 2+2

¢} Wnte short notes on the following :

1) Electrophoresis

ii) Tyndall effect

i) Dialysis
iv) Brownian movement.
1+1+1+1
d) Write the main ores of the
following  metals with . their
chemical formulae :
() Al (i) Fe (i) Cu (iv) Zn
o 1+1+141
6. ®) i) FEEEd A Y A S W
HTT 2
%) TRUwEY
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y) mﬁmw
2 FA '
i) afes, fgedas ud gdtae Tewieel

. d R IFE G F OIMR W

Eﬁ"lfvfm_ 1+1+1+2

, Fyar
9 A F Lupac w2
Fﬁf@'Q : _ ;{
: . CHz :
i) CHg—CH—Ci:H— —CHyg £
H;OH CH, 3
H, s
i) 3
OH g
Hy, =

iii) CHTO—CHQ—EH_CHS

- H
OCH, >

V)

Y} (CH,),C.0H

1+!+1+1+1

- ) . ) 1\1
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B) Gl w ghya feom e -
) TR ks

1) \Ig."‘laug JIﬁTFa?ﬂT
:;il 'E\‘h'@a arfwfsman

iv) TSl §U9H
v) miwﬂlﬂ&‘{ﬁ]ﬁﬂ”

1+1+1+14
) ISR WE S0 — o
p) SR NGRS A CHAEHF 2
Q SOF ¥ WRWHE 2
. 1 SFRCRS ¥ WA 2
u) FECT WA qd N bl gwy
WSS 3R SIeH 3§ e e Fif)
3+2
-You-prepare phenol —
X) from diazonium salt ?

¥} from sulphonic acid ?
i g from cumene ?
u) Differentiate between 1
Phimary,
sccond.axy and -tertiary alcohols
according to their structures,

1+1+
N oR 1+2
e I.U.P.ﬁ.c, n
following mmmund::mes of the
o cH, -
HyOH CH,
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H3
~
i) R NoH
CH,
iii) CHs-O—CH4;CH—CHj
OCH,
COCH, . _

iv)

v] (CH,;),C.OH 1+1+1+1+1

. Write short notes on the following :
i) Etard reaction
i) . Rosenmund reaction
1) Gatterman-Koch reaction
V)  Aldol condensation
v} Cannizzaro's reaction.
1+1+14+1+]
. _OR
H}ow :.rnuld you obtain —
P cetophenone f
. chloi'il:le ? o Benzoyl

Q) Acetophenone from Benzene ?
r)  Acetophenone from
Benzonitrile ? '

Write down the distinc:tion b

Aldehydes ang Ctween

. . over
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@) —

) o arEE ® Tewiged KOH &
a7 fea S e 2

i) T dE vifean A EE |
Hferan el € ?

iii) W Ve foeEd H WEAA W
valed S & 2 |

iv) W% TIERRE $I G AMedH

TRoRe faemd & WM T e

S E ? .
v) W% WCHRE I F 9Y de &
T fea A ¥ 2 -
1+1+1+1+41
s ,
e W die feol fafan
i) o= AREm

i)  eI-Tefem sfafea
i) p=AT® & el B QERY ERHR
o=y

iv) TIERA & I
v) R AN A
141414
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1+1+1+1+1
A4l
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}’\.r'ri le short notes on
) Wurly reaction

the following
ii) Wurtz-Fittig reaction

; i)  Genera| clectronic configuration
a;f,;f;p.-m‘ ‘ of p-block elements

it V) Uses of Phosphine

) i V) Interhalogen compounds.

0 7 b ' I+1+1+71+ 1
m@a{m’ﬁ:@; ) Write down the structures and
iii) RS 34'3[- names of the Products formed when
vl SHR )

iv)

D-glucose s
fullowing .

) Hydroxylamine
ii)  Hydroiodic acid
i) Nitric acid

treated with the

wﬁaﬁﬁﬁmaﬁ’t‘aﬂw?ﬁﬁﬁﬂr
ity | 5

1v) Bromine water
v)  Acetic anhydride.

~
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a) What happens when (Give chemical. OR 1+1+ 1 MR
equations only ) — : ' .
i) Ethyl bromide is heated with doranss the structure of glucose n

alcoholic KOH 7. _
ii) Methyl chloride reacts with dry .
ethereal sodium ? -
ilij Phosphine gas is passed in 347(WC) - 2,55,000
copper sulphate solution ? . '
iv) White phosphorus is heated
with  concentrated  sodium
hydroxide solution ? http:/www.upboardonline.com
v) Copper is heated with Whatsapp @ 9300930012
concentrated sulphuric acid ? Send your old paper & get 10/-
l+1+14+14 o QO o fr 3R 10 T O,
OR .. Pavtm or Google Pay 3
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